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1.1 RIEFEE . 1.2 REKIMATLABIEILIZFF:

min f (x) = 60.4207X} (X1+2.5)[9.8696X3 +(X2+9.8X: +0.0046X: Xz |* function [c, cep] =mycon(x) _
c(1)=1222.301%x(2) " (0-2. 86) »x (3) 0. 86-590;

st gi(X)=122.3010X2"" X3* —590<0 c(2)=300-757750sx (1)~ (0-1)#x(2) "dwx (3) " (0-3) ;

gz(x)=300_75775X11 X; X% <0 c{3)=5-x(2) " (-1)+x(3) ; ) )
c(4)=(x(1)+2) #x (2) +98+0, 0046#x (2) " (~4) #x(3) "3I*=x (1)-5. I*x (3) ;

g3(X)=5-X2' X3<0 ¢ (8)=100-356000%x (1) " (1) #x(2) #(3) " (-2) ;
g4(X) — (X1+2)+g8+0 0046Xi4 Xg X.:—300<0 c(6)=1/3%x (3)-2/Fx (2)-98%x (1) " (-1)-0. 00d6sx (2) " (-d) »x (3) "3;
( ) ! - c(7)=0.5%x(2)=0. 5#x (3)+98xx (1) * (=1)+0. 00d6#x (2} * (=d)»x (3) " 3;
gs5(X)=100-3.56x10°X1" X2X3* <0 cep=[1;
=  fun =" 0.00160. 4207 %x(2) "2e (x (1)+2. 5) » (9. 86082 (3) "2+ (x (2) +98ex (1) " ( #0. 00462 (2) " (=4} «x(3) "3) "2} 70.5";
9s(X)=2-X2<0 = x0= (10:3:400; :
g7(X)=X2-8<0 - &l0-10
010
gS(X):so—XZ—X3SO 0-1-1
gs(X)= X2+ Xs—60<0 i
g1(X)=5-X1<0 - b=[-2,8,-30,60,-5];

= Aeee(l]

gll(X):7§X2+%X3798Xil ~0.0046X2° X3 <0 30 e

12 - ub=[];
_ 3
gu(X) =0.5X2-0.5X3+98X1" +0.0046X2" X3 <0 [x, fval, exitflag, output, lanbda, grad, hessian]=faincon (fun, x0, 4, b, Aeq, beq, 1b, ub, Saycen)
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Conceive, Design, Implement, Operate




